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BACHELOR'S DEGREE PROGRAMME 
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ELECTIVE COURSE : ECONOMICS 

EEC-07 : INDUSTRIAL DEVELOPMENT 
IN INDIA 

Time : 3 hours 	 Maximum Marks : 100 
(Weightage 70%) 

Note : Attempt questions from each section as per instructions 
given under each section. 

SECTION - A 
Answer any two questions from this section in 
about 500 words each. Each question carries 
20 marks. 2x20=40 

1. Critically analyse the need for industrialisation in 
the developing economy like India. 

2. What is the significance of the concept of capacity 
utilisation ? What measures are available for 
capacity utilisation ? Briefly explain the trends in 
capacity utilisation in India. 

3. Explain the concept of Balanced Regional 
Development. Why do we need balanced regional 
development ? Identify the causes of regional 
disparities in India. 

4. Define "small scale industry". Discuss their 
importance in India. What are the issues relating 
to small scale Industries ? 
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SECTION - B 

Answer any four of the following questions in 
about 250 words each. Each question carries 
12 marks. 4x12=48 

5. "Rapid expansion of trade is necessary condition 
for rapid industrialisation". How ? 

6. Where does Indian industry stand in the context 
of present globalisation ? Discuss briefly. 

7. What are the shortcomings of the Industrial Policy 
1991 ? Discuss. 

8. Define optimum firm. How is it different from 
the concept of representative firm ? 

9. India has advantages in the production of iron 
and steel over many other countries. Explain. 

10. Briefly explain the growth of private corporate 
sector since 1991 in India. 
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SECTION - C 

11. Differentiate between any two of the following : 
2x3=6 

(a) Natural barriers and strategic barriers to the 
entry of a firm. 

(b) Herfindhal Index of concentration and 
N-firm concentration ratio. 

(c) External sickness and internal sickness of an 
industry. 

12. Write short notes on any two of the following : 
2x3=6 

(a) Incremental Cost Pricing 

(b) Venture Capital 

(c) Agglomerative and Deglomerative factors 
in location theory. 
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